23M09L 3(360039000 obBMA5g0o BgHIOML Lodwmsemgdols
3699500Md0L dqliobgd

090099M5B sbmdsdY
9—-53mb@s: teimuraz.akhobadze@tsu.ge
05009353030L 93503589630, MBOOLOL 03. X 53950830¢0lL Labgwmdol Mbogzgdlo@gdo,
393393530 36mL3gJGo 1, mdogrobo 0128, bsjsGmzgumm

309350 (&) 560l GoEbgms 808Y3MMdS, MMIobmgolsg ¢, > -1, N=12,.... goagmwolbdmom,
(QION:)

oun(x )= An'S(x, )/ A,
v=0
Loo3

A = (e, +D(a, +2)..(a, + K) I KL

09 (a,) 560b 39908030 308©g3Omds (o, =a, N=12,...), 35806 o~ " (X, f) 98mbgz93s R3ggdc0g
BgBodmb o (X, ) Lodwgoemgdl. o, (X, T) Ladwgsemgdol 3G9dsmdol 39000bg93580 353dMIM, MM
f gBJs00b gr@ogl dF3ogo (C,a,) -89xs99d5©0s X FodEowdo.

396250055 3b6Mmdoo BMOOgL GHMoRMmbMIgEHMomwo 9536003900l 993920l gHN—9HMO Y3z9esby
Dmd©0 30905 MdoL B0odsbo.  g9Ma9bol JogM godwoghmgde 0dbs wwgdgauol gl IOIEYDdS.
700593035 39M960L ©JdMGdS BHIOES FIO0IL GHGoRMbMIgEHGomwo 3f3Mogz9d0L (C,ar)
Bs3w9omgdobamgol (1< a <1).

dmblgbgdol  oBsbos  gogosdzowol  sbodbymo  @IPRPMPOL  gsbbmaswgds  (C,a,) -

d9x5990500Md0LSMZ0.

09mM90s. 3ogdzom —1<a, <L, n=12,..., p(Xt)=f(X+t)+ f(x-t)-2f(X) oo

D(x,t) = sup | D(x,1) .

O<us<t

30379olbdmm, GHd

1 Fd(xt)
dt =o(1
M L+ an)ni g o=l
Qo
() 1 sup ]itl*“" | (X, 1) — (X, t+ h) [dt = 0(1), N — .
(1+ Ofn)nan O<h§£g

n

85806  f gubdgool gm@ogt dfztoz0 (C,a,)-89xs0905000 X  FgBEH0wBo. Bgxs0905@mdS
0565035005 M[y39BH™O0L B5393 0w 063¢gM350 By, Loss (1) s (2) LEMEIEYds MBIVGS.



